Code No. : SS -30- ACCOUNTANCY

S HILafAe gdtelr, 2019
SENIOR SECONDARY EXAMINATION , 2019
SECIEIEZ |

ACCOUNTANCY

Time : 3 Hours 15 Minutes Maximum Marks :80

wenfefal & foR M= [Adw -

General Instructions to the Examinees:

o Tleneft wdued um yv uF W A AFarid: ford |

Candidate must write first His / Her Roll No. on the Question Paper Compulsorily .

o W yw afErd 1

All Questions are Compulsory .

e UFH YT &1 IR ol TS I YR | g ford |

Write the Answer to each question in the given answer-book only

o fOF uwAl d ar=Re @Wvs g, 99 9l & SR T 91 & ford |

For the Questions having more than One Part , the answer to those Parts are to be Written together in
Continuity .

e UH U & TN Ta N wUR A Bt ypR @t FR / R/ fRuvm g R = v &
g% &l & FE aF |

If there is any Error / Difference / Contradiction in Hindi and English Versions of the Question Paper ,
the Question of Hindi Version should be Treated Valid .

Page 1



e YT YUY U < Wusi H favyaa & AT B.

This Question Paper Contains Two Sections : Aand B .

Section Q. Nos. Marks Per Question
A 1-8 1
9 — 14 2
15 — 21 4
22 — 23 6
B 24 — 25 1
26 — 27 2
28 — 29 4
30 6
OR
24 — 25 1
26 — 27 2
28 — 29 4
30 6

o Wug ‘A’ 9l B @& foR sifRart ¥

Section “A” is Compulsory for All Candidates .

e WIS B'd T YN Bl AP 9N § 9 9o9 g1 et &1 fbdt v v & 9 9sHil B g B 2

Section ‘B’ has Two Portions . Every portion has a Set of Seven (7) Questions . Candidate can

Attempt only a Set of Seven Questions of any One Portion .

e U W& 22 (@us ‘A’) @l ued W 30 (|Wus ‘BY) H am=iRad fawed B
There are Internal Choices in Q. No. 22 (Section — A) and Q. No. 30 (Section — B) .
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Q1.

Sol.

Q2.

Sol.

Qs.

Sol.

SECTION-A (TUS - A)

ARIER JoiE & Y[ | AEISRI & dd99 &I o1 gEag™= 2 ?

What is the provision for salary to the partners , in the absence of Partnership Deed ?

[1 Mark ]

AEER ol & JU[d H, WEIER] Bl 999 Fel a1 SR |

THUN TG A1 4 : 2 B AU H A T diec §Y 9EER ¥ Se /3R @ forl gum @ wH
H wdw fRAn gon oAl fRRRw Sl | WHE U A ww Al T A B Igua @ o

PSR ITaruna and Bhavna are partners with sharing profit and loss in the ratio of 4 : 2 . They admitted

Pooja into firm for 1/3"share . Pooja received her share equally from both . Calculate New Profit and

Loss Ratio .

Taruna’s Sacrifice

Bhavna’s Sacrifice
New Ratio

Taruna’s New

Bhavna’s New

Pooja’s Share

New Ratio

[1 Mark ]
1 1 1
— X - = —
3 2 6
1 1 1
— X - = —
3 2 6
Old Ratio — Sacrifice
4 _1 .3
6 6 6
2 _1_1
6 6
1 2 2
— X = = —
3 2 6
3:1:2

A 901 99 5 : 3 B U § A fAueH R g U B A 9EIER g1 SR YW 3 9491 9EER
FART| IFH1 71 4 T agu 4 : 2 ;1 AREa fdw wn , @ 7w @ 99 @1 @ SguE s

PSR Mamta and Manu are partners in a firm with sharing profits in the ratio of 5 : 3 . They entered

Rekha as New Partner . Their new profit-loss sharing ratio is decided 4 : 2 : 1 . Find out sacrifice ratio

of Mamta and Manu .

Sacrifice Ratio =

Mamta’s Sacrifice

Manu’s Sacrifice

Sacrifice Ratio =

[1 Mark ]

Old Ratio — New Ratio

5 4 _3%-32_3

8 7 56 56
3 2 _21-16 _ 5
8 7 56 56
3:5
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Q4.

Sol.

Q5.

Sol.

Q6.

Sol.

I U Td R U 4§ PIS ql <R eIl |

Write any TWO Difference between Gain Ratio and Sacrifice Ratio .

[1 Mark ]
91T U Td R U H 3=
P 9 | IR P IFUR i srguTa R U
SAHYATASIAR 3P TS0l T RM WEER AU A B

3ref PR drel WEIER 41 7d 9EeR | R A 9EER @ ud § /N
D AN D R Pl UT B 2 A 2

fodl QEIER @ 3GHEE UL B | T AEER P A9 G|
T BT T | grorar weg W |

BH & FHYE A MY T FHS § 7

What do you mean by Dissolution of Firm ?
[1 Mark ]

YR aEEr faffm , 1932 @t gR1 39 & AgAR A B & WG AERERI & A9 AEER)

BT FATE B O, BH &1 fAged sirar BH b1 [HYA HaEerl g 1”

arg] foafics 7 e fafics ¥R 6,00,000 & o w94 @l ta amy fafics 31 3 109« 50,000
|qHAl 3 B 20 % NATE W M fafics d1 yaE 3 9N fBA1 s o kA @ ufafe
&fSA|  Yaashu Ltd. Purchased a machinery from Goyal Ltd. For ¥ 6,00,000 and Yaashu Ltd. Issued

50,000 Equity Shares @ % 10 each at 20 % premium for payment to Goyal Ltd. Give entry for Issue of

Shares.
[1 Mark ]
Premium Per Share = ¥10x 20 % = % 2 Per Share
JOURNAL of Yaashu Ltd.
Date Particular Dr. ) cr. ®
Date of Machinery Alc. Dr. 6,00,000
Purchase To Goyal Ltd. Alc. 6,00,000
(Being Machinery Purchased from Gopal Ltd.)
Goyal Ltd. Alc. Dr. 6,00,000
Date of To Equity Share Capital A/c. 5,00,000
Issue To Securities Premium A/c. 1,00,000
(Being 50,000 Equity Shares @ X 10 each
Issued at 20 % Premium)
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Q7.

Sol.

Q8.

Sol.

Q9.

Sol.

Fon foffies 920,000 379 &1 R} SR Y Hfdaver WY fdaA1130,000 3N B fod smaeT urw ge|
24,000 ¥ & IETHI Pl FATIUN deA fbar| afe orer B 400 3w IEfeT fBA @ @ SED FRI
Imafed 3ren & WEm §E BRI Krishna Ltd. Issued Prospectus to issue 20,000 Shares .

Subscription received for 30,000 Shares . Pro-rata Allotment is made to Applicants of 24,000 Shares .

If 400 Shares were Allotted to Rajesh , calculate number of shares applied by him .

[1 Mark ]
o g ARfdE siE @ wem = 200 _y 24000 = 480 o
20,000
|YF AEH P GHYA 69 B § 7
When Dissolution of the Joint Venture happens ?
[1 Mark ]

faeiy ol Qui 8 M s g FARea @Y & wwa @ o @ Wiy € agaa 9ed o @@ |aarw
& ol g

R,SAnTus % & 5:3:2ad Igurd § o¥ @1 dfcd 81 R 31°Wrd , 2018 Y 3ra@mer Jg01 o=
gl 39 Y &1 v & &g 3§ 9=y &1 IR 30,000 F1 A9 TR @Rl H1 sfde AR 15,0009 |

R & @& Ug0 W Al i Ta gfHal 31 sfeifad o1 gg -ial ufafeedl Sifori |

R, S and T are Partners in a firm , sharing Profits and Losses in ratio of 5:3: 2. R Retires from the
firm on 31*March , 2018 . The Balance Sheet of the Firm showed a Balance of Reserve ¥ 30,000 and
Dr. Balance of Profit and Loss Account X 15,000 on that Date .

Make Journal Entries for Writing Off Accumulated Profits and Losses .

[ 2 Marks ]
JOURNAL of Firm
Date Particular Dr. ®) cr. ®
2018 Reserve Alc. Dr. 30,000
March ’31 To R’s Capital Alc. 15,000
To S’s Capital Alc. 9,000
To T's Capital Alc. 6,000
(Being Reserve Written Off in 5 : 3 : 2 Ratio)
R’s Capital Alc. Dr. 7,500
2018, S’s Capital Alc. Dr. 4,500
March 31 | 15 Capital Alc. Dr. 3,000
To Profit and Loss Alc. 15,000
(Being Profit and Loss Debit Balance Written
Offin 5: 3: 2 Ratio)
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Q 10.

Sol.

P,QUNMR G HAAARRR e W1 3:2: 1% Igua A a9 g fAaeH a=d g1 B4 &t g«
ufdad 31°Are Bt g A SRl 1 1°grE , 2015 P wH A 3@ WgUl wRan g1 3199 |, 2015 B
AT T @@y § ®H 3 % 2,40,000 A9 AR A a9 H o ey @ ger d 25 % Afdd @
D UG 8| IJTDIE U0 Dl [ P a1 & ™ F P @1 B0 A HRR den P @ 39 A
3! ufafe AR

P, Qand R are Partners in a Firm , Sharing Profits and Losses in the Ratio of 3:2: 1. P Retires
from the Firm on 1% July , 2015 . The Firm Closes its Books on 31 March each year . The Firm
Earned a Profit of ¥2,40,000 during the Previous Accounting Year ended on 31% March , 2015 .
It is estimated that Current Year’s Profit would be 25 % More than Previous Year .

Determine the Share of P on the Date of Retirement in the Current Year’s Profit . Also make Journal
Entry for Profit given to P .

[ 2 Marks ]
arq af &1 fd @ = ¥2,40,000 + ¥ 60,000 (25 % of ¥ 2,40,000) = ¥3,00,000
193, 2015 & 1°9arg, 2015 @& &1 @ = < 3,00,000 x % = 75,000
P &1 darq a4 & ov # f@w= = 75,000 x % = 37,500

JOURNAL of Firm

Date Particular Dr. ®) cr. ®
2015 Profit and Loss Suspense Alc. Dr. 37,500
Il 1 To P’s Capital Alc. 37,500
y (Being Share in Current years Profit upto
Retirement given)

X,Y@nZ3:3:23 3Jgud ¥ @ dfcd g 9BER 21 Z & fFaa 8 w® agaa § diferf @1
|udu] gea X 1,60,000 et Tl difer @ wfds § gael W el fRwr ® den wfas | 9w
AEIER Y RIER-GRTER g1 99 HRd 2

B B gDl H S S ufdfte /ufaftcdi R afe difam : @maiRe @€ am s 7 )

X, Y and Z are Partners sharing Profits in the Ratio of 3 : 3: 2. The Surrender Value of Joint Life
Policy is ¥ 1,60,000 on the Date of Retirement of Z . It is decided that Joint Life Policy will Not Appear
in the Balance Sheet . X and Y decide to Share Future Profits Equally .

Give necessary Journal Entries in the Books of the Firm, when Premium is Treated as Trade

Expenses.
[ 2 Marks ]
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Sol.

2

Z o1 agad arn diferft 9 fR=wm = ¥1,60,000 x s 40,000
BRI B IAGUE = 99 IGU — YR U™
X B BRET 1_ E = 4__3 = 1
2 8 8 8
Y &l BRICI= 1_ E = 4__3 = 1 = 1:-1
2 8 8 8
JOURNAL of Firm
Date Particular Dr. ) cr. ®
X’'s Capital Alc. Dr. 20,000
Date of Y’s Capital Alc. Dr. 20,000
Retirement To Z's Capital Alc. 40,000
(Being Share in Surrender Value given in
Gaining Ratio 1:1)
OR
JOURNAL of Firm
Date Particular Dr. ) cr. ®
Joint Life Policy Alc. Dr. 1,60,0000
To X's Capital Alc. 60,000
Date of To Y’s Capital Alc. 60,000
Retirement To Z’s Capital Alc. 40,000
(Building JLP A/c. Opened by Surrender
Value in Old Ratio 3:3: 2)
X's Capital Alc. Dr. 80,000
Date of | y's Capital Alc. Dr. 80,000
Retirement | 14 j5int Life Policy Alc. 1,60,000
(Being JLP A/c. Written Off in their New
Ratio 1:1)

Q12. Rafa faaru & "= w9 nfdw” e & g foredl o arell IR w1 faR |

Write FOUR Items under the Head of “Reserves and Surplus” of Balance Sheet .

Sol.

(i)

(i)
(iif)
(iv)

[ 2 Marks ]
(Istt wera) Capital Reserve
(Isht e w=3) Capital Redemption Reserve

(sfgfa fifas w=m)  Securities Premium Reserve

(®vrem wys §99)  Debenture Redemption Reserve
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Q13.

Sol.

Q14.

Sol.

Q 15.

Sol.

Jwps I P TS | Explain Cash Equivalents .
[ 2 Marks ]

T P IFAte @R fafam &, g @7 Jos 9 aRafia féar o1 W & a1 599 I
# gReda &1 AW T8 & sRER B g1 faRA o A 31 des g @it wr o g, w6fe
3aP IRYFaal A H9 q ®9 AT g FA B QAN | 9 A" siar 399 a9 A

AP Aed G FaER] B @@l vE@ 3 il sarsd |
State the Methods of Accounting for Joint Venture Transactions .
[ 2 Marks ]

(i) |YE AEd B ford 9P A oA §RKD IG |
(i) g AEd B ol 9gs 4 o §WS T8l G ¢
o UW® ARl ERI Bdd WA & oH-qHl B @ HIAT
o W B oF-adl B WA B I AERE B AF-qA1 BT W AW HIAI

AT q gBE A 1°WHa™) |, 2016 P wHe: T 2,000 @M1 % 20,000 FH Yot & Wiy wEEr) vH g
@ 1w, 2016, B WA A 8,000 @t IfRaw Yo wE | S W gPw A e o
¥6,000®Te | et 7 1°garg , 2016 H I30,000 @t Goft @ @y wd # uwdw fasan) sw RA 7
T gH¥ HHEX12,000 T 310,000 FHt AfiRew Goit Fma g1 v =1 Goft orgua § fawfom &
S B 1 9 2016 & @1 59,6009 | YRt MO 9 §A M A FRieE @ 99183

Manoj and Mukesh started a Partnership Firm on 1% January , 2016 with a Capital of ¥ 2,000 and
T 20,000 respectively . On 1°'March , 2016 , Manoj introduced Additional Capital of 8,000 . On that
day , Mukesh Withdrew 6,000 from His Capital . Murli entered in the Firm on 1%July , 2016 with a
Capital of ¥30,000 . On that day , Manoj and Mukesh introduced Additional Capital of ¥12,000 and
10,000 respectively . Profit and Loss are Distributed in Capital Ratio . The Profits for the year 2016
were 359,600 . .
Prepare Profit and Loss Appropriation Account by giving detailed calculations .

[ 4 Marks ]

Calculation of Effective Capital Ratio :
MANOJ :

1%January , 2016 to 1% March,2016 = ¥ 2,000 x 2 = T 4,000

1'March , 2016 to 1% July , 2016 = ¥ 10,000 x 4 = ¥ 40,000

1% July , 2016 to 31% December, 2016 = I 22,000 x 6 =% 1,32,000
TOTAL ¥ 1,76,000
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Q 16.

Sol.

MUKESH :

1%January , 2016 to 1% March,2016 = ¥ 20,000 x 2 = % 40,000
1'March , 2016 to 1% July , 2016 = T 14,000 x 4 = ¥ 56,000
1% July , 2016 to 31% December, 2016 = 324,000 x 6 =% 1,44,000
TOTAL ¥2,40,000
MURLI :
1% July , 2016 to 31° December, 2016 = ¥ 30,000 x 6 =% 1,80,000
TOTAL ¥1,80,000
Capital Ratio : ¥1,76,000 : ¥2,40,000 : ¥1,80,000
44 60 45
Profit and Loss Appropriation Account
Dr. For the year ending 31% December , 2016 Cr.
Particulars ® Particulars ®
To Manoj’'s Capital 17,600 | By Profit for the Year. 59,600
(% 59,600 x 44/149)
To Mukesh’s Capital 24,000
(¥ 59,600 x 60/149)
To Murli’'s Capital 18,000
(% 59,600 x 45/149)
59,600 59,600

A TAT IS T BH A WIEeR &1 31°Wd | 2015 @ WEieRl @ GOt wHe: 3 4,00,000 @@ %
2,00,0008 dm A9eR T 90,000 ® | ¥ Ry o wd @& wAmw w® wERE &1 agel geR

3,60,000 ¥ | Il @ral 9IS |

Sanjana and Rajana were Partners in a Firm . On 31% March , 2015 Capital of the Partners are
< 4,00,000 and X 2,00,000 and Creditors worth ¥ 90,000 . Realizable Value of Assets is ¥ 3,60,000 on

the Same Date , at the Time of Dissolution of the Firm . Prepare Realization Account .

[ 4 Marks ]
Note ;¥ A & M@ ¥ AEERI P A BT I IRMER A1 =T
Memorandum Balance Sheet as at 31*March , 2015
Liabilities Q) Assets ®
Sanjana’s Capital 4,00,000 | Sundry Assets 6,90,000
Ranjana’s Capital 2,00,000 (Bal. Fig.)
Creditors 90,000
6,90,000 6,90,000
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Q17.

Sol.

Dr. Realization Account Cr.
Particulars Q) Particulars ®
To Sundry Assets 6,90,000 | By Creditors Alc. 90,000
To Cash Alc. 90,000 | By Cash Alc. 3,60,000
(Creditors) (Assets Realized)
By Sanjana’s Capital Alc. 1,65,000
By Rajana’s Capital Alc.. 1,65,000
(3,30,000 x (1/2 : 1/2))
7,80,000 7,80,000

Rifed 3R Wga $US B B AP P ¥ GYA AR H A IR © qA A9-EF 3 0 2 B AU
A dfeq #1 v v g1 Afed R 50,000 % w9s @ den T 500 Hr$T ;% 100 &\ =@ ; %400
MY wrs1 den % 300 fafdy = & gpr | g 7 % 30,000 & BUS @IS wa T 200 M fwEn
% 100 &/ WfifAam GuR 100 WSt 918 3 gPR| A 7 B HUsT % 60,000 H Tl IgA 7 AN
FUST 3 38,000 § 99 =) .

JAfed ot gD § G AE Wil Td AgA BT GTell I8 |

Rohit and Rahul entered in Joint Venture to Purchase and Sales of Cloth and Decide to Distribute

Profit or Loss in 3 : 2 Ratios . Rohit Purchased Cloth of ¥ 50,000 and Paid X 500 Freight ; ¥ 100
Insurance Expenses ; T 400 Carriage and < 300 Sundry Expenses . Rahul Purchased Cloth of ¥

30,000 and Paid ¥ 200 Godown Rent ;

% 100 Insurance Premium and ¥ 100 Carriage .

Rohit Sold Part of the Cloth for Worth ¥ 60,000 and Rahul Sold the Remaining Cloth for ¥ 38,000 .

Prepare Joint Venture Account and Rahul’s Account in the Books of Rohit . [ 4 Marks ]
In the Books of Rohit
Dr. Joint Venture Account Cr.
Particulars Q) Particulars ®
To Bank (Purchase) 50,000 | By Bank Al/c. (Sales) 60,000
To Bank (Expenses) 1,300 | By Rahul’'s Alc. (Sales) 38,000
To Rahul’'s (Purchase) 30,000
To Rahul’'s (Expenses) 400
To Profit and Loss Alc. 9,780
(16,300 x 3/5)
To Rahul’s Alc. 6,520
(16,300 x 2/5)
98,000 98,000
Dr. Rahul’s Account Cr.
Particulars Q) Particulars ®
To Joint Venture Alc. 38,000 | By Joint Venture Alc. 30,000
By Joint Venture Alc. 400
By Joint Venture Alc. 6,520
By Bank A/c. (Bal. Fig.) 1,080
38,000 38,000
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Q18.

Sol.

Q 19.

Sol.

fAifea o= Ruwpoft faiRad | Write Notes on the following :
(i) AT HHITH Ordinary / General Commission
(i) gReny HHeE Del-Credere Commission .
[ 4 Marks ]

(i) WM FHHE (Ordinary / General Commission) : A9t &1 W1 & g qoa a1 dGivi®
T R e ) 9 oA fn s 21 a8 dwoft & orf &1 ufiwa 71

(i) gReny HHeE (Del-Credere Commission) :afe Uud A Uwoll & A1 & SuR fasva &=
Tg e fbar &, @1 it Rafa § Saa o1 @t a=mae o &0 &, O’ 99 a8 a=an
g1 I SId HUl 98 HRA Td YR R qHd A B STREA A9oh o1 § @ 59
3 99a gR1 dweht o1 sfdRem witem R oan @, R aReny &iem @=a ®1
THH TOEI T GAI B WA H G fawa ) FAf¥aa uftea @ @ ori 1

digen g9 A g €t & 5,000 d9 T 1,200 9 Gia1 AFE WR A9 JE ¢S B A R OAol
AR 50,000 YTST gHran| ART § 200 G =@ & W, s ol diw w9 &R 1,80,000 @ B
U< A1 TWive {1 AV A @t JYS o durR 27,000 I GUR 8,000 fImt = & gHR| S|H4,250
9 @ ¥ 1,500 9fd diur ot <= | I A qen A T 50 ufy Gror HHe a9y fan| sA =il
aen fa faa =i o A 3t oFT FRA g UuF o gD | A9l @l §91sd |

Sankhla Traders Consinged 5,000 Vegetable Oil Tins @ ¥ 1,200 Per Tin at cost to M/s. Megha
Traders and Paid Railway Freight ¥ 50,000 . In course of Transit, 200 Tins was Theft . A sum of
% 1,80,000 is received from the Insurance Company as a Claim . Agent took delivery of remaining
goods and paid ¥ 27,000 for Octroi and X 8,000 as Selling Expenses . He Sold 4,250 Tins @ ¥ 1,500
Per Tin and Charged X 50 Per Tin as Commission on Sales .

Prepare Consignment Account in the Books of Consignor , with calculating amount of Unsold Stock
and Abnormal Loss .

[ 4 Marks ]

Working Note :

1. Calculation of Abnormal Loss in Transit (200 Tins)

Cost = 200 Tins xX 1,200 = %2,40,000
Add :Non-Recurring Proportionate
Expenses of Sankhla Traders = 2,000
[52600000 y 200}
Abnormal Loss = ¥2,42,000
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2. Calculation of Unsold Stock :

= (5,000 Tins — 200 Tins Abnormal Loss — 4,250 Tins Sold)
= 550 Tins
Cost = 550 Tins x% 1,200 = ¥6,60,000.00
Add : Non-Recurring Proportionate Expenses
of Sankhla Traders
20000 x 550 = ¥ 5,500.00
5,000
Add : Non-Recurring Proportionate Expenses
Of Megha Traders
27,000 x 550 = 33,093.75
4,800
Unsold Stock = ¥6,68,593.75
In the Books of Sankhla Traders
Dr. Consignment Account Cr.
Particulars ® Particulars ®
To Goods Sent on Consignment 60,00,000.00 | By Megha Traders (Sales) | 63,75,000.00
A/c.(5,000 Tins x 1,200) (4,250 Tins x 1,500)
To Cash Alc. (Expenses) 50,000.00 | By Abnormal Loss 2,42,000.00
To Megha Traders (Expenses) (W.N. 1)
Octroi 27,000 By Unsold Stock Alc. 6,68,593.75
Selling Expenses 8,000 35,000.00 (W.N. 2)
To Megha Traders 2,12,500.00
(Commission)
(4,250 Tins x 50)
To Profit and Loss Alc. 9,88,093.75
(Bal. Fig.)
72,85,593.75 72,85,593.75
Q20. fA=ifda ga=msi | 31949, 2010 B GAK @9 Il 9§ &1 WK T YaH @l g8 |
Prepare Receipts and Payments Account for the year ending 31°March , 2010 from the following
information ;
Particulars Amount ()
Cash-in-Hand (Opening) (IRfRE Aws ) 40,000
Donation Received (e ur= fasan) 2,00,000
Subscription Received (=r==1 9t foban) 4,00,000
Paid for Electricity Bill (fasrett fa=ii @1 Yo fasan) 80,000
Rent ¥ 4,000 Per Month . Actually Paid for 11 Months during the year
(fP=mn % 4,000 #ifep, ad & IRM 11 A8 &1 P foan )
Purchases of Computer in Cash (®¥geX de # g faan) 2,00,000
Honorarium Paid (AT YIEE) 76,000
Purchases of Machinery from Ram(I™ & #efi=dt @ i<t) 1,00,0000
[ 4 Marks ]
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Sol.
Note :

I A A @dd |, SUR @939 ¥ o wifly Td FaE @[ # A€ smrm|

Receipts and Payment Account
For the year ended 31*March , 2010

Particulars ® Particulars ®
To Balance b/d. 40,000 | By Paid for Electricity Bill 80,000
To Donations 2,00,000 | By Rent Paid 44,000
To Subscriptions 4,00,000 (4,000 x 11 Months)
By Computers 2,00,000
By Honororium 76,000
By Balance c/d. 2,40,000
(Bal. Fig.)
6,40,000 6,40,000
Q21. fA=ifdd |l @ I¥-=u¥ @ v fAag 4 Tuisd|
Show the following ltems in Income and Expenditure Account and Balance Sheet :
Particulars Amount ()
Amount Received from Legacy (e & ura af¥) 50,000
Subscription Received in Current Year (arq ad # " ===T) 25,000
Outstanding Subscription of Current Year  (3Tq] a¥ &1 I&r1 a=<1) 5,000
Entrance Fees % 20,000, (50 % Part should be Capitalized)
wae g 20,000, (50ufie fewm Yoiv@ arn o)
Life Membership Fees(3iToftas HawIal Yeh) 40,000
General Donation Received (I &M uTa fdan) 2,500
[ 4 Marks ]
Sol.
Income and Expenditure Account
Dr. For the year ended Cr.
Expenditure ® Income ®
By Subscription 25,000
Add : Current year
Outstanding __ 5,000 30,000
By Entrance Fees 10,000
(20,000 x 50 %)
By Donations 2,500
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Balance Sheet as at

Liabilities ® Assets ®
Capital Fund XXXX Outstanding Subscription 5,000
Add : Legacy 50,000
Add : Entrance Fees __ 10,000 60,000
(20,000 x 50 %)
Life Membership Fees 40,000

Q22. W 9 WY HHE: 3 : 2 B IGUM H ¥ dicd §I WEIER ¥ 31w, 2012 # <A Rg A=

gbR 2 : :Sonu and Monu are in Partnership , Sharing Profits in the Ratio of 3 : 2 . Their Balance

Sheet as on 31%'March , 2012 was as follows :

Balance Sheet as at 31°'March , 2012

Liabilities ®) Assets ®)

Creditors 7,500 | Cash(Ir®s) 9,750
(Ae) Debtors(39aR)
General Reserve 4,500 15.000
(W= |=a) Less : Provision _ 6,000 9,000
Profit and Loss Account 3,000 | (U’ : 3mEIoH)
(CIERERCINY) Stock(¥eT®) 22,500
P:;r:: ;aezgl 1A§|/1; Furniture(®taR) 9,750
( Tl ) Goodwill(wif) 9,000

Sonu  (¥19)30,000

Monu (#1)15,000 45,000

60,000 60,000

3 o A

15%e0a , 2012 9@

/3% B ol 39 vl W WaY 39 T P aE oun R I wnfa &

foRl MR § B9 &1 P PR Al S waiw Yo d” a9 a8 wH @t @A o 3
/3" U @ TR W I @ F oA T A a6 B a9 B A YA B IMUR W
P g FERIfo fban e ®1 59 a6l & o mAw 15,000 ;8,300 (@7)<en 325,000 71 ST
I8 WM Tu fdan o ® 76 s@a ®o1 smdie @i 32,000 9% USRI SR, WP P a1k 30,000
R @ SR, AR $IR7,500 TF USRI W 901 SR @4 32,000 va AfSid s I500 R A
glelvief

They decided to Admit Tonu on 1 April , 2012 for 1/3™ Share with the terms that He has to pay cash
into the business for his Share of Goodwill and Sufficient Capital to give him a 1/3"™ Share of the Total
Capital of the New Firm . The Goodwill of the Firm is adjusted by valuing it at two years purchases of
the average profits of the last three years . Profit or Loss for these years being :X 15,000 ; < 8,300

(Loss) and 325,000 .
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It was further agreed that the Provision for Bad Debts be Reduced to 2,000 , that the Stock be
Revalued at 330,000 , that the Furniture be Reduced to 7,500 and Outstanding Expenses 32,000

and Accrued Income 500 to be Brought into Books .
BH B gD H JHSAPT Wl UG AEERI & Yol @/l asd |
Prepare : Revaluation Account and Partners’ Capital Account in the Books of the Firm .

OR
A,Bdal CYUERER d =au &< I8 A1 319/, 2015 P ®H @1 fagr A= gyerR o -

The Partners A, B and C were carrying on Business . The Balance Sheet of the Firm as at
31%'March , 2015 was as under :
Balance Sheet as at 31°'March , 2015

Liabilities Q) Assets ®
Creditors(e¥eR) 13,500 | Cash in Hand 5,900
General Reserve 12,000 | (BT ABS)

(wr=a =) Debtors (I7eR) 8,000
Bank Loan(d@& 3vr) 5,000 | Stock(¥f®) 11,600
Partners’ Capital A/cs. : Building (@) 23,000
(WEER ot @) Goodwill(a) 15,000
A 15,000
B 10,000
C 8.000 33,000
63,500 63,500

19311, 2015 B B I(GPIe UV Bl & 901 9 99d A= fAvfg o ) -
B Retires on 1%'April , 2015 . The following decisions were taken at that time :
(i) a9 $1 g 37,000 | 9T & . Value of Building is Increased by ¥ 7,000 .
(i) fafdy SRR W5 % B R A Ay FHol B fod AT BT R
Provision for Bad Debts @ 5 % is made on Sundry Debtors .
(iiiy w4 o A & geared T 18,000 R fHan W) g N Ry o mn f& B & s@wre ugul

TR @l Pl w@ifa TE faws SR Goodwill is Valued at % 18,000 and it is also
Committed that after Retirement of B , it will not be Shown in the Books .

(iv) % 5,000 B gR=1 Y 91 Y IWP KU W ¥ SCRG HR A WA Payment of %
5,000 is made to B Immediately and Balance is Transferred to His Loan Account .

B B G} H P @, ARl & Yol @[ dn g sy |

Prepare :

Revaluation Account, Partners’ Capital Accounts and Balance Sheet in the Books of the Firm .

[ 6 Marks ]
Sol.  Working Note :

1. Valuation of Firm’s Goodwill :

15,000 + (X 8300) + X 25,000

Average Profit 3

= ?3;—’700 = 7 10,567
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Goodwill

Premium for Goodwiill

Average Profit x 2 Times
310,567 x 2
I 21,134 x (1/3)=

321,134
% 7,045

2. Calculation of Capital of Tonu :
Total Adjusted Capital of Sonu and Monu
= ¥ 37,977 + ¥ 20,318 = T 58,295
Assume Total Profit = 1 Remaining Profit = 1-(1/3) = (2/3)
New Capital of Firm = ¥ 58,295 x (3/2) =X 87,443
Tonu’s Capital = T 87,443 x (1/12)= R 29,148
Dr. Revaluation Account Cr.
Particulars ® Particulars ®
To Furniture Alc. 2,250 | By Provision for Bad Debts 4,000
To Outstanding Expenses 2,000 | By Stock Alc. 7,500
To Sonu’s Capital Alc. 4,650 | By Accrued Income Alc. 500
(7,750 x (3/5))
To Monu’s Capital Alc. 3,100
(7,750 x (2/5))
12,000 12,000
Dr. Partners’ Capital Account Cr.
Particulars Sonu Monu Tonu | Particulars Sonu Monu Tonu
®) ®) ®) ®) ®) ®)
To Goodwill Alc. 5,400 3,600 — | By Balance b/d. 30,000 15,000 —
(9,000 y 352j By Premium for
Goodwill 4,227 2,818 —
To Bal /d. .
o Balance ¢ 37,977 | 20,318 _ (7,045 y 352j
By Revaluation A/c. 4650 3.100 —
By Gen. Reserve
Alc. 2,700 1,800 —
(4,500 . %j
By Profit & Loss
Ale. 1,800 1,200 —
(3,000 « 3.2 j
43,377 23,918 — 43,377 23,918 —
To Balance c/d. 37,977 20,318 | 29,148 | By Balance b/d. 37,977 20,318 —
(Bal. Fig) By Cash Alc. — — | 29,148
(W.N.)
37,977 20,318 | 29,148 37,977 20,318 | 29,148
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Working Note :

OR

1. B’s Share of Goodwill = ¥ 18,000 x (1/3) = ¥ 6,000
New and Gaining Ratio = A:C
1:1
Dr. Revaluation Account Cr.
Particulars ® Particulars ®
To Provision for Doubtful Debts 400 | By Building Alc. 7,000
(¥ 8,000 x 5 %)
To A’s Capital Alc. 2,200
(¥ 6,600 x 1/3)
To B’s Capital Alc. 2,200
(¥ 6,600 x 1/3)
To C’s Capital Alc. 2,200
(¥ 6,600 x 1/3)
7,000 7,000
Dr. Partners’ Capital Account Cr.
Particulars A B C Particulars A B C
®) ®) ®) ®) ®) ®)
To Goodwill Alc. 5,000 5,000 5,000 | By Balance b/d. 15,000 10,000 8,000
- By A’s Capital Alc. — 3,000 —
[15,000 . uj y P
3 By C’s Capital Alc. — 3,000 —
To B’'s Capital Alc. 3,000 — | 3,000 [6,000 y uj
To Cash Alc. — | 5,000 — 2
To B's Loan Alc. — | 12,200 — | By Revaluation Alc. 2,200 | 2200 | 2200
(Bal. Fig.) By General Reserve 4,000 4,000 | 4,000
To Balance c/d. 13,200 — 6,200 Alc.
Bal. Fig. 1
( g.) [12,00%1.1.1}
3
21,200 22,200 | 14,200 21,200 22,200 | 14,200
Balance Sheet as at 1*'April , 2015
Liabilities Q) Assets ®
Creditors 13,500 | Cash in Hand 900
Bank Loan 5,000 | Debtors 8,000
B’s Loan 12,200 | Less: P.B.D. 400 7,600
Partners’ Capital A/cs. : Stock 11,600
A 13,200 Building 30,000
C 6,200 19,400
50,100 50,100
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Q23. furg fafics 7 10,00,000 & 9 % orgsl &1 fvE 1 gaR @ faan
Himanshu Ltd. Issued 9 % Debentures of ¥ 10,00,000 as follows :

Sol.

(i)

(i)

(iii)

¥5,00,000 & 9% oAl ®l 10 % 98 W APha & o |

9 % Debentures of ¥ 5,00,000 at 10 % Discount for Cash .

e fafids & % 2,25,000 3§ w39 %9 &1 , SU 9fiva W@wy @1 < 2,50,000 sifda
@@ 9% Foua e &A1

A Machine of I 2,25,000 Purchased from Sneha Ltd. For the consideration of it , 9 %

Debentures were Issued with a Nominal Value of ¥ 2,50,000 ..

d6 9 T 1,25,000 &1 *vl foran| weiki® ufofa & w9 § 9% @& 9RR 2,50,000 & 9 %
OT95 ST B [Taken a Loan of ¥ 1,25,000 from Bank and Deposited to the Bank, 9
% Debentures of ¥ 2,50,000 as Collateral Security .

fearyg fofics 9 gl 4 Sa ufafedi §ifor

Give Journal Entries in the Books of Himanshu Ltd.

[ 6 Marks ]
JOURNAL OF Himanshu Ltd.
Date Particular Dr. ®) cr. ®
. Bank Alc. Dr. 4,50,000
(@) Discount on Issue of Debentures A/c.  Dr. 50,000
To 9 % Debentures Alc.. 5,00,000
(Being 9 % Debentures Issued for Cash at
10 % Discount)
Machine Alc. Dr. 2,25,000
(ii) To Sneha Ltd. Alc. 2,25,000
(Being Machine Purchased from Sneha Ltd.)
Sneha Ltd. A/lc. Dr. 2,25,000
Discount on Issue of Debentures A/c.  Dr. 25,000
To 9 % Debentures Alc.. 2,50,000
(Being 9 % Debentures Issued to Sneha Ltd.
at Discount)
Bank Alc. Dr. 1,25,000
To Bank Loan Alc. 1,25,000
(iii) (Being Bank Loan Taken)
Debentures Suspense Alc. Dr. 2,50,000
To 9 % Debentures Alc. 2,50,000
(Being 9 % Debentures Issued as Collateral
Security)

Page 18




Q 24.

Sol.

Q 25.

Sol.

SECTION-B  (QUS - B)

Yus B @ < UM 21 YA 9N 4 9 999 g1 wenffal & faft v v & | gwHi

P T BT 2|

Section B has Two Portions . Every Portion has a Set of SEVEN Questions . Candidates can
Attempt any Set of SEVEN Questions of any ONE Portion .

wafd srgurd S| A &1 gA fafd |

Write the formula for Calculating Trend Ratio .
[1 Mark ]

I 7 B are], aef B ART

9afd gur(Trend Ratio) = o e A o A R

100

Ife uRfRE wiaR 20,000 ; FgF HR 50,000 ; w@& AT 5,000872n 3ifow =i 22,500 , & @
99 T 9 B ARG TG HA1 I Opening Stock T 20,000 ;  Net Purchase ¥ 50,000 ; Direct

Expenses X 5,000 and Closing Stock is ¥ 22,500 , then Calculate Cost of Goods Sold .
[1 Mark ]

Cost of Goods Sold
Opening Stock + Net Purchase + Direct Expenses — Closing Stock
¥ 20,000 + ¥ 50,000 + ¥ 5,000 — ¥ 22,500

= ¥ 52,500
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Q26. HMAETBR &AZ &1 U9 919 | Make Proforma of “Common Size Balance Sheet” .

[ 2 Marks ]
Sol.

Common Size Balance Sheet

Note | Absolute Amounts | Percentage of Balance

Particulars No. ®) Sheet Total
Previous | Current Previous Current
Year Year Year Year
5= (3/Total |5 = (4/Total
1 2 3 4 X 100) x 100)

I. EQUITY AND LIABILITIES
1. Shareholders Funds :
(a) Share Capital
(i) Equity Share Capital
(i) Preference Share Capital

(b) Reserve & Surplus

2. Non-Current Liabilities
(a) Long term Borrowings — — —_ _
(b) Long term Provisions — — — —

3. Current Liabilities :

(a) Short-term Borrowings — — — _
(b) Trade Payables — — — _
(c) Other Current liabilities — — — _
(d) Short-term provisions — — — _

TOTAL — — — —

Il. ASSETS :

1. Non-Current Assets
(a) FixedAssets
(i) Tangible Assets

(ii) Intangible Assets
(b)Non-Current Investment

(c)Long-term Loans and Advances — — — —

2.Current Assets
(@) Current Investments
(b) Inventories
(c) Trade Receivables
(d) Cash and Cash Equivalents
(e) Short-term Loans and

Advances
(f) Other Current Assets

TOTAL — — — —
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Q 27.

Sol.

Q 28.

=1 gamel 3 9ed a9 @ g 9w @ i s Hifw
Find outGross Profit and Net Sales from the information given below :

®)

o Fixed Assets  (Fwuferai) 1,50,000
o Average Stock (3fr7a ¥cf®) 70,000
o Stock Turnover Ratio  (¥€f® Imdd 3rgar) 4 Times
o Debtors (F=R) 40,000
o Selling Price (faspa q=a) 20 % Above Cost

(Ara & | 20 %31f)

[ 2 Marks ]
Stock Turnover Ratio = Cost of Revenue from Operations
Average Stock
_ Cost of Revenue from Operations
¥ 70,000
Cost of Revenue from Operations = % 70,000 x 4 = ¥ 2,80,000
Gross Profit=% 2,80,000 x 20 % = ¥ 56,000
Net Sales =Cost of Revenue from Operations + Gross Profit
=%2,80,000 + 356,000 = R3,36,000
fefafEa aeei | M fafics &1 e Rafa faavor =)
Prepare Comparative Balance Sheet of Ram Ltd. From the given information :
Particulars 2011 (]) 2012 (%)
LIABILITIES(s1R<q):
Share Capital(3re1 goit) 80,000 1,20,000
Reserve (=) 24,000 20,000
Long Term Loan(dte®relta skvr) 1,00,000 1,20,000
2,04,000 2,60,000
ASSETS(wwufrn):
Fixed Assets(¥ITE wwfuif) 1,60,000 2,04,000
Sundry Debtors(fafag 3-eR) 20,000 40,000
Bank Balance(d@® @) 24,000 16,000
2,04,000 2,60,000
[ 4 Marks ]
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Sol.
Comparative Balance Sheet of Ram Ltd.
As on 2011 and 2012

Absolute Percentage
Note Change Change
Partlculars No_ 2011 2012 (lncrease or (Increase or
Decrease) Decrease)
1 2 3 4 5
A B B-A=C D=
(C/IA) x 100
® ® ® %
. Equity and Liabilities :
1. Shareholders’ Funds :
Share Capital 80,000 1,20,000 40,000 50.00
Reserve 24,000 20,000 (4,000) (16.67)
2. Non-Current Liabilities :
Long Term Borrowings 1,00,000 1,20,000 20,000 20.00
TOTAL 2,04,000 2,60,000 56,000 27.45
Il. Assets :
3. Non-Current Assets :
Fixed Assets 1,60,000 2,04,000 44,000 27.50
4. Current Assets :
Sundry Debtors 20,000 40,000 20,000 100.00
Bank Balance 24,000 16,000 (8,000) (33.33)
TOTAL 2,04,000 2,60,000 56,000 27.45

Q29. Vps Ui & &Y ¥ Afdd MUR W @ fba yeR fba oren & ? (18 ar f[Ag)

How the Accounting of Cash Receipts can be done on Ethical Basis ? (Any FOUR Points) .
[ 4 Marks ]
Sol.
AP U & F¥-g | :

() JAwme Ut F FHfad Ol JHI0TRT IR e o 8 a1 S HHaR FaRerd f&ar S |
(i) = gHUTRT R e A EIRAT B g B |

(iiiy o vfafedi & e yATTS BT HHIG @R SR |

(iv) 9 b wikl o | w8 |
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Q 30.

Sol.

fAfea fafies o ol @ FfoRma g oa ot 7 & -

Following information have been obtained from the Books of Nikita Ltd.

(¥ = 31%WT)

Particulars 2010-11QR®) | 2011-12 ()
Revenue from Operations 10,00,000 15,00,000
(WaTe™ | M)
Trade Receivables on 1% April 1,50,000 —
(caraRe uram : 1%'ad)
Trade Receivables on 31* March 1,75,000 2,50,000
(caraRe urgam ;. 31°Hr)
Inventory on 1% April 1,60,000 —
(Fpg @ 1°3@)
Inventory on 31% March 1,80,000 2,20,000

I aul @ o MRS UMy MEd U Td WY IAEd IFUI DI MO Diford | faha wR e

25 % .Calculate Trade Receivables Turnover Ratio and Inventory Turnover Ratio for both the years .

Assuming that Profit on Sales is 25 % .

OR

wfa fafies ot gwal § RA=ifda go=m & g & -

Following information given in the Books of Ruchi Ltd.

— 12 %, 1,000 3fH9= 379 9¥d T 100

12 % , 1,000 Preference Shares @ < 100 each ;
25,000 Equity Shares @ X 10 each

— 25,000 |9H4T 39 AR 10 ;

— PR g o¥ < 1,90,000

Profit after Tax ¥ 1,90,000

—  |quAl I R AT ghrn 40 % @ R |

Dividend Paid on Equity Shares @ 40 % .
IWRIT IS B YR W 7 surai & o1 Hifor -

Calculate following Ratio on the basis of above information :

(ufar orer 3rsf)

(i) Earnings Per Share
(i) Dividend Per Share

(iii) Dividend Payout Ratio .

Working Note :

1. Cost of Revenue from Operations
2010 -1

(ufar ster )

GIINEUCIE S EIG))

[ 6 Marks ]

Revenue from Operations — Gross Profit
¥ 10,00,000 - ¥ 2,50,000

¥ 7,50,000
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2011 -12

2. Average Trade Receivables

% 15,00,000 — X 3,75,000
%11,25,000

Opening Trade Receivables + Closing Trade Receivables

2010 -1

2011 -12

3. Average Inventory =

2010-11

2011 -12

Trade Receivables Turnover Ratio

2010 -1

2011 -12

Inventory Turnover Ratio =

2

% 150,000 + ¥ 175,000
2

%1,62,500

31,75,000 + ¥ 250,000
2

R2,12,500

Opening Inventory + Closing Inventory
2

% 160,000 + ¥ 180,000
2

= %1,70,000

% 1,80,000 + ¥ 2,20,000
2

= R2,00,000

Revenue from Operations
Average Trade Receivables

% 10,00,000

= = 6.153 Times
162,500

= —?15’00’000 = 7.058 Times
212500

Cost of Revenue from Operations
Average Inventory

2010 - 11 = 2 7.50,000 = 4.411 Times
¥ 1,70,000
2011 -12 = 21125000 = 5.625 Times
¥ 2,00,000
OR
Working Note :
Calculation of Earnings Available for Equity Shareholders (EAES)
Particulars Amount )
Profit After Tax 1,90,000
Less : Preference Share Dividend (X 1,00,000 x 12 %) 12,000
Earnings Available for Equity Shareholders 1,78,000
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Q 24.

Ans.

Q 25.

Ans.

Q 26.

Ans.

Earnings Available for Equity Shareholders

(i) Earnings Per Share = ,
Number of Equity Shares

- ¥ 178000 = %7.12 Per Share

25,000

Dividend Paid to Equity Shareholders
Number of Equity Shares

(i) Dividend Per Share =

= 100,000 = T4Per Share

25,000

Dividend Per Share
Earnings Per Share

(iii) Dividend Pay-out Ratio 100

- 4 100 = 56.179 %
712

OR

SECTION - B

|YITHIOT | MY R FASK 7 ? What do you mean by Networking ?

[1 Mark ]
A B AEH YSH T PRI Bl F$ SUBIVN A SST T g1 59 FTIHC UgE Bl T BIC
dcad B HUY A A ollbd URAT Acad  “Local Area Network” (LAN)® H1egd & SirST S bl g1
98 "cas & ford “Wide Area Network” (WAN)®T Ui fdar < 21

IR FIHH | 9 F1 ¥Hsd 8 7 What do you mean by User Interface ?

[1 Mark ]
SWNTHAT A TG MU A 1l BhlF D AR B, o) 6 Iwaeal @ den oms
YoR Y IAMYT B SR 3G O APS| Dl $9YC BN YA FB AHCYe <@l ae , o
SEIBA PEART T | Ol (WP B fod DI AfvedaR 91 & |

TR A ¥ qagd g9M P ufshar wEEnsd |
Explain the Process of Creating a New Workbook in Excel .
[ 2 Marks ]

TR | % aHgP Bl 99F1 : JHgD a9 B ford 1 ufdban s Wl ® -
o WISl Siffhd Taial 2010 (Microsoft Office Excel 2010) 4R faeid &A1 & dI€ ATSHIAEIGT
siffsar (Microsoft Office)des W facd R |
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o g (New) R fIord o iR SUD a1
o ®i® a®gd (Blank Workbook) W fdeie x| tadial fSwiee (Default) w9 # & Raa aogd
e B

Q27. THYP WA | "HA Pl TCHI Td HYI AT A Y FT GASK T 2
What do you mean by “Moving and Copying Cells” in Structure of Work Book ?
[ 2 Marks ]

Ans.
o ¥d ® g (Moving Cells) : &l 9d @1 (& WM A e R TR WHE d o oM &
fer’l AgaR (Menu Bar)¥i tfSe/®e &1 989 &R 3@l $c g R faes B |
o W B HIYl HA(Copying Cells) : fft 9 @1 Pdt &= & ford IgarR (Menu Bar)d
ufee /3l &1 Ia9 B Nal Biht g9eq W fIerd B |

Q28. AWHT WA & UBRI B Seai@ difo™ | Narrate Types of Accounting Software .
[ 4 Marks ]

Ans. A@IHA AFEIIR & YHR(Types of Accounting Software) FFgcHdHd AWIHA UVl H A@IDHA
P T IABT URAST GIAT B AEARFAGAR AR fFa S g1 d@dd dieRr (R dwmea
o9 ded g, Ffafaa ger ot kb 2 -

o SUEN & ford TUR WiveddR (Ready to Use Software): g7a1 fior fawdt faeiy Suarmeal &
IFUR TE O o B1 I B @mRal & forR SuAnht WivedwR ¥ RMe 9ga o9 W |
IR B g1 S99 MUMAFA $1 o91a Bl § , R I8 A § W 901 $9 @did B g
TAPI ARIE0] TR Bl g a9 uftiem ar W el ot J@ife e @ @ fa faed
ARE @ gred fhd uf¥iemr @ 2ar 1 39 AlRdd® d 9@ ) aEEr fde el @ w®ife
T MufRTe A= @R @ =S 2

o <gaRed WfdeddR (Customized Software): dg Aegq Td a8 «gviRaAl & ford Swarh @ B
STH WA Td @G Pl AFG 0P e T RifP TR AR d SwrTedl 3
AMATIHAT B JJAR GRATT HAT IS g1 $HH MG g8 TR g M sifdpa @ik &
AP IR TR APl Bl I 99 YU SUa A S PRU ITARTHAI B &0 Tl
fadl & arq @ AT H AR AT AR 7

o JNMEAWHATIAR FAAl SuYgad WAfyeddR (Tailored Software): dg Yuiqan: STAN A dqd D
fAdell @& IgUR TR & S g1 sEH G 93 AR ufasEl A gkl g1 S Wiifore
A R R A AT E R I B SHe SWredl ¥ B g oaen I SREa
gferor & Ad1 SUART & fhA S Wl g1 USSR G GUell H§ AP AEwa@qel ANTE™
e B 399 Moeen |, Sifddaar qun gMiftedr @ itg wxA @ ol T Yoo ugf A R
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Q29. STE¥ v RReA @ USRI @ 99sMsA|  Explain Types of Database Management System .
[ 4 Marks ]

Ans. STR¥ dAoE< RRew @ 9dR(Types of Database Management System) :

o ERRI®IHd(Hierarchical)qd # fSoza fFA g Sced s”Rm@iea 8 o, foFa wx=m
ISgH1 PR (Treelike Structure) # BiHt oft1 S99 U A9 ®e a1 A9 W@ A1 SRR R
Saa s (Nodes) @I @ @1 U & 3M@ (One to Many) @ ®9 § & @il (Flow) &)d 2|
U I8 P uRadefta e 81 &1 #1E W Node , Root &1 §: W™a &l HR Fahell a2
321 B Tl (Flow) TP & fem # Ban 21 31 oAl fF aoie A 3N ST &1 fog=
gae T, R ST @ 98 9Ha W QUi ua S| v & o w99 |
= = s & gri et @ B

Root

\
\ \
Node Node

Node Node Node Node

o sead(Network):casd Ried & STew @t ARl Nodes T TR 9 9S! g% ¢ , o &@l wR
31 S Node # =12y a8 @i & Suerer &¥1 R WA srafq a8 8M® | 3M® (Many to
Many Relationship) & fOrTH &% IR S=a ST1 IUAIUT P Ioe A STl Fae} ot Rafd an
IR 81 919 <1 Nodes @& U®h Q1Y Sl Release &34 @ Rafd d oy Se1 a1 oY 3oy #

& SASBR ¥ Sl © al SIfed WM 9% el ugd uran| 39 = o & i wn g
Node

Node Node

Node

o Reawa(Relational) : Relerial ST # ERRTGIGA T Acdsd o [l sRyfaensti o1 &= 4

IGPR <JIFl 9RE BT ST Flow I T, Sl b A Uh , Uh W 3D dAT 3IHP A IHP B
H B g1 R MavasargdR S@1 UANT BR STEAW AR GRS ) YAl S 2
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Q 30.

Ans.

faxita favawor & sfaRe Wede @ fa<l ©: ST @ kR
Explain any SIX Uses of Spread Sheet , Except Financial Analysis .

OR

fFerifea aRRafal & Wstiic & d@es § 93T 31 |Gusisy -

Discuss the Application of Spread Sheet in Accounting in following cases :

(i)
(i)

Calculation of Expenses . (E=t &t 7o)

Calculation of Income . (ema @t 7o)

[ 6 Marks ]

Jrsshic & 3= YW (Other Uses of Spreadsheet) : faha faarol & favwrayor & iR« a@mdrRy
g el g1 VisEiie &1 939 3 Fs ol U9 faa awl s & o fhw o e 31 g
wewyel fakila &t &1 Seor@ A=fafa # fasn & -

(i)

(i)

FR Pt MU (Calculation of Tax) :Wseie gRI fAff= UeR & TR T4 JFHR , fAwads ,
FIcH SYLI , Afd <ad 3Nfe Bt UMT TE [T TG Al B MMUR WR BRI BT gargAH
SRR ST Wbl 21 39 A=forfad Serexvl gR1 99sal 1 21 oife™ A § 3 aw=h siiepe
RPIARNRIO% & A RF = om0 7| Rradt o /=1 a0 g3 g1 3
g 7 (fOst @t af¥ PR @1 ufiee) | T g3 @ ogaR & S 9RU | 59 3 31 A
JHR A R T OB FHA Ried B 0 =(A1 * 0.5) st o @t afd # v B1 #A
eIl W R

PR B ARG
A B
Sales Tax

1 20 10
2 30 15
3 40 20
4 50 25
5 30 15
6 40 20
7 70 35
8 80 40
9 60 30
10 100 50

vl 3t fdhea @t AT (Calculation of Installment) :  fa=ft Af¥=a am WY wr =wafd
ol o 3 g9 H AR fhea @ o § PMT 3 gR1 9fode < faea &t wor=n &6t o
Haedl 81 PMT @R &1 Ja 93 ® : PMT(rate,nper,pv,[fv] [type]) T R

r = Rate of Interest ; nper = Total Payments for Loan ; pv = Principal Amount
SRl & for Ife =awr 3 6.75 wfawE @ % W T 2,00,000 &1 k01 96 A 30 99 & fod

form g , < ufomre & oM arelt favea @t o e A R A= g3 | @ 9t
= PMT(B4/B5,B3*5,82)  ufadre 21 <if¥1 &1 B6 # sifba fban wam ¥
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(iii)

(iv)

fobea & oM

A B
1 Loan Data L
2 Principal Amount 2,00,000
3 Loan Term 30
4 Interest Rate 6.75 %
5 Payment Per Year 12
6 Instalment (R) 1297.20

gfe ufoare €&t oA arelt fdea § | g A« (Principal Amount) @t U1 &+t 81 @ 39
Ten § PPMT @M &1 AT fan s :

= PPMT (rate/payment in a year,1,years*payment in a year,Amount)

ISRVl , I =S <% 10 "faerd 8 T =u1 @l fheg ufqde & YR W 2 g dA1 KU1 B
Fa A X 1,00,000 T YAE @ 5 a¥ g A gl @ I arel fahwa 9 e af€r @

o 9 g3 | @ SR/ 0 = PPMT(10/12,1,5912,100000) 9 93 gR1 faea T 1291.37
| s feafoaa o g1 <ot s/ @ @ = PPMIT (B1/B3,A7,B2*B3,B4)

B o: et Pageluowt  Formulas  Data  Review ew Add-Ins o

B : AAAAA 14 - A 7 © General - j:D”:"'

* 4 BjZ U =] 2 $ - 51,::&!' {EiFo

; Interest Rate (%) 10

: Loan Am:u:etr 1,00,0;§

3 Instalment No. Principal

8 4]  1.291.47

4t yeR i & S arell fava | @ @ OFT BRE vg PMT waeE &1 w3 fasan
SIRAT | SUYad ISR W SHST STN 9 gF g™ fBa SR
=|PMT(10/12,1,5*12,100000) = IPMT(B1/B3,A7,B2*B3,B4)
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(v)

(vi)

a
T F ana =1 = - Ap
ppppp s ol g- 2f 3

7 = st =5} 2~ Filter - Select -

c11 S

A B (e D E F G H 1 J =
1
2 Interest Rate (%) 10
3 Years 5
4 Instalment Per 12

Loan Amount 1,00,000

6
7 Instalment No. Principal Interest:
8 1.297.47 811.47
9

aaaaa EHO @ 100% +

ot J1ar #ouT 9R HIYRYT Aol &) ol A1 (Caleulation of simple interest on Capital and

Loan) Yoft werar ol WR &ara 1 0ET Jo AR (Principal Amount) W T [RuiRa av | &

Wil ®1 39 ford =1 g ®1 g @1 € ¢ (Principal Amount) x Rate/100

I =1 SeERY ERT WS S Whall ® -

Ife 100000 @t W1 8 ufdera &9l X W 5 a9l & o <t 18 & A1 A9 WA FRA B ol

(100000*8/100) = ¥ 8000 ufdad @ fRwe & =91 < NI 5 961 & &Sl & AT & for

(100000*8/100)*5 H<= 8| fort @ IgER 5 asf @ ret @) M ¥g Ri<aw &nm
=(B1/B2)*B3 3a1 = B1*.08

TS & O
A B Cc D
Principal Amount 100000
Rate .08 %

Year 5

Bl WODN -

9% @R @@ = @t IO (Calculation of Total Income on Investment) :

TS TR Fel AT H T PR B R g A e auf & a1 aRugm @ & & S99 aui
S @ A TfAeE (TAdia) A Yon FR A A 21 SRRy & o 1 ad A 8 ufdwa @
R 9 Ife 7100 Faw 3 ok @ &1 1 ¥ 91e @8 g 3108 & 9|

Ig A= arol gr1 gwitar R
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(i)

(i)

Number

=
- 0§ - %

W 4 » | Sheetl . Sheet3 . ¥a IRl » [1]
Ready 8|0 100% (= +

OR

hal ® wE o AR @4l @1 faave A T g1 R AN & g @™ 9d E 12,
F 12 tw G 12 4 ol T g1 5t 9oR il v & &1 Al A1 & g @4 31 16 4
110 9% <o TR B | 9@ UHE A B ford SUM i &1 ua fam 71 9 RENT
P TN 7N B R FApem & o =SUM(E6 : G6) &1 A 16 § <igu fban mam &1 s=it
UHR TG A8 B Fol @dl bt ToE gF =SUM(E6 : E10) & &RT &) 78 #1

Bl o Insert Page Layout Formulas Data Revie: ie Add-Ins

=B Arial - 10 A AT - =:  General

P‘; B 7 Uu- @B 2 A = 6 S - %
ci6 ~ I >
A B (o) [} E F G H ] J K L M=

i

2

3

a Expenditure Statement for Quarter 1

5 [ [

6 Expenditure ()

7

3 Month Jan Feb Mar Total

9 Rent 5,000 3,000 5,000 13,000

10 Salary 3,000 3,000 1,000 7,000

11 Purchases 12,000 11,000 9,000 32,000

12 Wages 1,000 5,000 1,000 7,000

13 Electricity 4,000 4,000 2,000 10,000

14

15 Total 25,000 26,000/ 18,000

16

17

18

139

20

21

2

23

2 -~

"4 » v| sheetl . sheet3 a < s

Ready S0 100% (— +

A W ET . FEUR § B arelt 3 A o ft Wiesfie gr1 ) on wad 1 g o
aqififes , srgaitie , AP e & IFAR DI o1 Fhell 1 I A = Q4w fBA f
UHR FI goic 99M T Tadd SIseiic ¥ ST P g fban o1 a@a 21 330 yeR
7R § ®9 @1 SOE @d Bl f RAfed & oon v 31 1 yer R W fom § e
I Pt IMUET B I TR B 39 AR H W SUM F @1 w1 e T g
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Formulas  Data  Revie e N
=
g - - == * [ Format - 2~
G12 - K Vv S| 26,000
A B C D E G H I J
1
2
3
4 Revenue Statement for Quarter 1
5
6 Revenue (I
7
8 Month Jan Feb Mar Total
9 Sales 18,000 3,000 9,000 30,000
10 Rent Received 4,000 6,000 5,000 15,000
11 Commission Received 17,000 11,000 12,000 40,000
12 Dividend Received 1,000 15,000 10,000 26,000
13
14
15 Total 40,000 35,000 34,000
16
17
18
19
20
21
22
23
24
IR Sheetl S ]

Insert

i)
Find &
b

Page 32




